\$826,093.75



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 2, 2024

Progress Estimate Number 7		Contract ID Prime Contractor	230915-C01 Ideker, Inc.	Pay Period Start Pay Period End	April 16, 2024 May 1, 2024	Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,156,464.41 \$10,795.47 \$2,167,259.88	
Approval Date							By User	
May 2, 2024		Ge	Generated and Approved (and should be considered Draft) at the Project Office Level by					
May 2, 2024		Review	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by					
May 3, 2024			Re	eviewed and Approve	ed at the Central	Office Controllers Office Level by	ramses1	
Original Comp	oletion Date	Current Completi	on Date	Actual Completi	on Date	% of Current Contract Amou	int Complete	

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2024	November 1, 2024		78.89%

Contract Informational Dates

Date Description	Original Completion Date	Current Completion Date
Acceptance Date		
Awarded Date	October 12, 2023	October 12, 2023
Letting Date	September 15, 2023	September 15, 2023
Notice to Proceed Date	November 6, 2023	November 6, 2023
Open to Traffic Date		
Work Began Date	March 28, 2024	March 28, 2024

Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
JSP B - Calendar Days, J4S3349	June 25, 2024	June 25, 2024	53	

Milestones

Contract Total Pay For Estimate No. 7

Contract Total Payable This Estimate	e: \$811,454.01			
		\$878,934.73	\$1,690,388.74	
Other Contract	: Adjustments \$0.00	\$0.00	\$0.00	
Liquidated Dar	mage \$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Incentive	\$0.00	\$0.00	\$0.00	
Gross Item Ad	justments (\$14,639.74)	(\$4,781.06)	(\$19,420.80)	
Total Posted It	ems Pay <mark>\$826,093.75</mark>	\$883,715.79	\$1,709,809.54	
230915-C01				
	This Estimate	Previous	To Date	

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4S3349	0130	4011231	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	TONS	\$103.500	755.6	\$78,204.60
	0140	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$85.740	6,217.3	\$533,071.30
	0150	4071005	TACK COAT	GAL	\$5.000	1,060	\$5,300.00
	0160	4139912	MISC.OPTIONAL SURFACE TREATMENT	GAL	\$4.400	23,179	\$101,987.60
	0290	6161005	CONSTRUCTION SIGNS	SQFT	\$6.500	807.5	\$5,248.75
	0341	6181000	MOBILIZATION	LS	\$232,283.690	0.232	\$53,889.82
	0370	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$24.840	1,857	\$46,127.88
	5002	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	EA	\$10.290	143	\$1,471.47
	5003	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	EA	\$10.290	77	\$792.33
Project J4	1S3349 - T	otal					\$826,093.75

Contract Adjustments This Estimate

Overall - Total

No Contract Adjustments Exist on Contract

Line Item Adjustments This Estimate

Revision 3/23/2023 Page 1 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Prog	gress E	stimate Number 7	Contract ID Prime Contractor		230915-C01 Ideker, Inc.	Pay Period Start Pay Period End	April 16, 2024 May 1, 2024	Net Char	Contract Amo ge Order Am Contract Amo	nount \$1	,156,464.41 0,795.47 ,167,259.88
Project Number	Line No.	Item Descript	ion	Adjustment Type	Other Item Adjustment Type	Со	omments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4S3349	0130	BITUMINOUS PA MIXTURE PG58-28		Price			em Price Adjustr nent Type applie		372.19	(\$1.44)	(\$536.28
	0130	BITUMINOUS PA MIXTURE PG58-28		Price		Reference Ite Adjustm	383.41	(\$1.44)	(\$552.45		
	0130	BITUMINOUS PA MIXTURE PG58-28		Overrun			em Price Adjustr nent Type applie		-176.7	\$102.06	(\$18,033.85
	0140	BITUMINOUS PA MIXTURE F (SURFACE LE	PG58-28H	Price		Reference Ite Adjustm	742.27	(\$1.44)	(\$1,069.52		
	0140	BITUMINOUS PA MIXTURE F (SURFACE LE	PG58-28H	Price		Reference Ite Adjustm	1,495.47	(\$1.44)	(\$2,154.79		
	0140	BITUMINOUS PA MIXTURE F (SURFACE LE	PG58-28H	Price		Reference Ite Adjustm	1,512.06	(\$1.44)	(\$2,178.70		
	0140	BITUMINOUS PA MIXTURE F (SURFACE LI	PG58-28H	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL		1,223.96	(\$1.44)	(\$1,763.58	
	0140	BITUMINOUS PA MIXTURE F (SURFACE LI	PG58-28H	Price			em Price Adjustr nent Type applie		578.12	(\$1.44)	(\$833.00
	0140	BITUMINOUS PA MIXTURE F (SURFACE LI	PG58-28H	Price			em Price Adjustr nent Type applie		498.94	(\$1.44)	(\$718.91
	0140	BITUMINOUS PA MIXTURE F (SURFACE LE	PG58-28H	Price			em Price Adjustr nent Type applie		75.77	(\$1.44)	(\$109.18
	0140	BITUMINOUS PA MIXTURE F (SURFACE LE	PG58-28H	Price			em Price Adjustr nent Type applie		90.71	(\$1.44)	(\$130.70
	0140	BITUMINOUS PA MIXTURE F (SURFACE LE	PG58-28H	Material					-10,579.9	\$85.74	(\$907,120.63
	0140	BITUMINOUS PA MIXTURE F (SURFACE LI	PG58-28H	Material		overridding Paymen	ial Payment Est (0012) due to us	mate Item ser caihaj1 otion 1 on	10,579.9	\$85.74	\$907,120.63
	0150	TA	CK COAT	Overrun					-316	\$5.00	(\$1,580.00
	0150	TA	CK COAT	Material					-1,060	\$5.00	(\$5,300.00
	0150	TA	CK COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user caihaj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.		mate Item ser caihaj1 ption 2 on	1,060	\$5.00	\$5,300.00
	0160		MISC.	Overrun					-73	\$4.40	(\$321.20
	0160		MISC.	Material					-37,405	\$4.40	(\$164,582.00
	0160		MISC.	Material		overridding Paymen	ial Payment Est (0016) due to us	mate Item ser caihaj1 ption 3 on	37,405	\$4.40	\$164,582.00
	00.10	FUDNICHING AND	DI ACINIO	0.4		I lask and a color		ad auc	22.4	¢457.45	¢1E 121 G7

Revision 3/23/2023 Page 2 of 12

Unit price based on averaged overrun

applied (if non-zero).

adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',457.15000 - 457.15000, 'is

33.1

\$457.15

\$15,131.67

0240 FURNISHING AND PLACING

CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT

Overrun



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 2, 2024

Prog	gress E	stimate Number 7	Contrac Prime C		230915-C01 Ideker, Inc.	Pay Period Start Pay Period End	April 16, 2024 May 1, 2024	Contract Am ige Order An Contract Am	ount \$1	,156,464.41 0,795.47 ,167,259.88	
Project Number	Line No.	Item Descripti	on	Adjustment Type	Other Item Adjustment Type	C	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount		
J4S3349	0280	DOWEL BAR (D FURNISH INSTALLATION) FO DEPTH PAVEMENT	ING AND	Material					-413	\$7.50	(\$3,097.50)
	0280	DOWEL BAR (D FURNISH INSTALLATION) FO DEPTH PAVEMENT	ING AND	Material		This adjustment generated Mate Adjustmen overridding Payme the	413	\$7.50	\$3,097.50		
	0290	CONSTRUCTIO	N SIGNS	Overrun					-94.5	\$6.50	(\$614.25)
	0310	TYPE III MC BAF	OVEABLE RRICADE	Overrun		adjustments previou	based on average s for installed qua is payment estima ,165.00000 - 165 applied (if	ntity on all ates. Price .00000, 'is	5	\$165.00	\$825.00
	5002	DOWEL BAR (FUR AND INSTALLATION BASKETS) FOR THE PAVEMENT	ON WITH OR FULL	Material					-143	\$10.29	(\$1,471.47)
	5002	DOWEL BAR (FUR AND INSTALLATION BASKETS) FOR THE PROPERTY OF T	ON WITH OR FULL	Material		generated Mate Adjustmen overridding Payme	offsets the origin erial Payment Esti t (0021) due to us ent Estimate Exce current Payment	imate Item ser caihaj1 eption 5 on	143	\$10.29	\$1,471.47
	5003	TIE BAR (D FURNISH INSTALLATION) F DEPTH PAVEMENT (TYPE L	Material					-77	\$10.29	(\$792.33)	
	5003	TIE BAR (D FURNISH INSTALLATION) F DEPTH PAVEMENT (TYPE L	ING AND OR FULL	Material		generated Mate Adjustmen overridding Payme	offsets the origin erial Payment Esti t (0022) due to us ent Estimate Exce current Payment	imate Item ser caihaj1 eption 7 on	77	\$10.29	\$792.33
Total											(\$14,639.74)

Revision 3/23/2023 Page 3 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

						Contract Project Information	on
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J4S3349	FAS S303(70)	Resurface and shoulder improvements	371	PLATTE	from the Buchanan Coun	ty Line south to Route 273	3
Γotals by .	Job Numbe	rs					
J4S3349	Doots	d Ham Day			This Estimate	Previous	To Date
		d Item Pay Item Adjustme	nts		\$826,093.75 (\$14,639.74)	\$883,715.79 (\$4,781.06)	\$1,709,809.54 (\$19,420.80)
		•	Gross I	Item Pay	\$811,454.01	\$878,934.73	\$1,690,388.74
	Incent	tive			\$0.00	\$0.00	\$0.00
	Disino	entive			\$0.00	\$0.00	\$0.00
	Liquid	lated Damages			\$0.00	\$0.00	\$0.00
	Other	Contract Adius	tments		\$0.00	\$0.00	\$0.00

Revision 3/23/2023 Page 4 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4S3349, Item 4020521, Project Item Line Number 0140, Material Set 4020521, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Material testing results will be added at a later date	caihaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3349, Item 4071005, Project Item Line Number 0150, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Material certification will be added at a later date	caihaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3349, Item 4139912, Project Item Line Number 0160, Material Set 4139912, Material 1015EAPEM1 - PEM-1 Anionic Polymer Mod Emulsion Membr, Acceptance Action Generic AspEmulsion is insufficient.	Material certification will be added at a later date	caihaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3349, Item 6131015, Project Item Line Number 0280, Material Set 613101596, Material 1057JMDBEC6.10 - Dowel Bar Epoxy Ctd Gr60 1" @, Acceptance Action Generic ReinforcingMisc is insufficient.	PAL form will be added at a later date	caihaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3349, Item 6131017, Project Item Line Number 5002, Material Set 613101796, Material 1057JMDBEC6.11 - Dowel Bar Epoxy Ctd Gr60 1 1/4 @, Acceptance Action Generic ReinforcingMisc is insufficient.	PAL form will be added at a later date	caihaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3349, Item 6131017, Project Item Line Number 5002, Material Set 613101796, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	PAL form will be added at a later date	caihaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3349, Item 6131018, Project Item Line Number 5003, Material Set 613101896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	PAL form will be added at a later date	caihaj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3349, Item 6131018, Project Item Line Number 5003, Material Set 613101896, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	PAL form will be added at a later date	caihaj1	Overridden
Estimate Exception Type: Item Overrun: Contract 230915-C01, Contract Project J4S3349, Project Item Line Number 0130, Contract Line Item Number 0130, Item 4011231, Minor Item.	Item overrun will be addressed in a later Change Order	caihaj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 230915-C01, Contract Project J4S3349, Project Item Line Number 0150, Contract Line Item Number 0150, Item 4071005, Minor Item.	Item overrun will be addressed in a later Change Order	caihaj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 230915-C01, Contract Project J4S3349, Project Item Line Number 0160, Contract Line Item Number 0160, Item 4139912, Minor Item.	Item overrun will be addressed in a later Change Order	caihaj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 230915-C01, Contract Project J4S3349, Project Item Line Number 0290, Contract Line Item Number 0290, Item 6161005, Minor Item.	Item overrun will be addressed in a later Change Order	caihaj1	Acknowledged

Revision 3/23/2023 Page 5 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
30915-C01	J4S3349	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$11,500.01	\$0.00
		0001	0020	2031000	CLASS A EXCAVATION	21.00	0.00	21.00	CUYD	0.00	\$180.00	\$0.0
		0001	0030	2035500	EMBANKMENT IN PLACE	42.00	0.00	42.00	CUYD	0.00	\$110.00	\$0.00
		0001	0040	2036000	COMPACTING EMBANKMENT	21.00	0.00	21.00	CUYD	0.00	\$55.00	\$0.0
		0001	0050	2037075	COMPACTING IN CUT	2.20	0.00	2.20	STA	0.00	\$375.00	\$0.0
		0001	0060	2063000	CLASS 3 EXCAVATION	11.00	0.00	11.00	CUYD	0.00	\$25.00	\$0.0
		0001	0070	2063500	CULVERT CLEANOUT	1.00	0.00	1.00	EA	0.00	\$1,750.01	\$0.0
		0001	0800	2153000	SHAPING SLOPES, CLASS III	4.00	0.00	4.00	100F	0.00	\$1,050.00	\$0.0
		0001	0090	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	27.00	0.00	27.00	SQYD	0.00	\$60.01	\$0.0
		0001	0100	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	71.00	0.00	71.00	SQYD	0.00	\$70.01	\$0.0
		0001	0110	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	3,310.00	0.00	3,310.00	TONS	0.00	\$56.10	\$0.0
		0001	0120	3105003	GRAVEL (A) OR CRUSHED STONE (B)	4,822.00	0.00	4,822.00	SQYD	0.00	\$11.70	\$0.0
		0001	0130	4011231	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	649.00	0.00	649.00	TONS	825.70	\$103.50	\$85,459.9
		0001	0140	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	11,269.00	0.00	11,269.00	TONS	10,579.90	\$85.74	\$907,120.6
		0001	0150	4071005	TACK COAT	744.00	0.00	744.00	GAL	1,060.00	\$5.00	\$5,300.0
		0001	0160	4139912	MISC.OPTIONAL SURFACE TREATMENT	37,332.00	0.00	37,332.00	GAL	37,405.00	\$4.40	\$164,582.0
		0001	0170	5021312	CONCRETE PAVEMENT (12 IN. NON-REINFORCED 15 FT. JOINTS)	50.40	0.00	50.40	SQYD	0.00	\$186.80	\$0.0
		0001	0180	6049903	MISC.8 IN. TRENCH DRAIN	52.00	0.00	52.00	LF	0.00	\$400.01	\$0.0
	0001	0001	0190	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	68.00	0.00	68.00	LF	0.00	\$40.95	\$0.0
		0001	0200	6091041	CONCRETE GUTTER TYPE A	20.00	0.00	20.00	LF	0.00	\$57.30	\$0.0
		0001	0210	6091052	CURB AND GUTTER TYPE B	79.00	0.00	79.00	LF	0.00	\$43.55	\$0.0
		0001	0220	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	31.00	0.00	31.00	LF	0.00	\$39.20	\$0.0
		0001	0230	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$2,500.00	\$0.0
		0001	0240	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	504.00	33.10	537.10	SQYD	537.10	\$457.15	\$245,535.2
		0001	0250	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	51.00	-51.00	0.00	SQYD	0.00	\$1.00	\$0.0
		0001	0260	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	51.00	-51.00	0.00	SQYD	0.00	\$1.00	\$0.0
		0001	0270	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	2,268.00	-647.00	1,621.00	LF	1,621.00	\$1.50	\$2,431.5
		0001	0280	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	1,260.00	-847.00	413.00	EA	413.00	\$7.50	\$3,097.5
		0001	0290	6161005	CONSTRUCTION SIGNS	1,441.00	0.00	1,441.00	SQFT	1,535.50	\$6.50	\$9,980.7
		0001	0300	6161025	CHANNELIZER (TRIM LINE)	244.00	0.00	244.00	EA	80.00	\$18.00	\$1,440.0
		0001	0310	6161030	TYPE III MOVEABLE BARRICADE	3.00	5.00	8.00	EA	8.00	\$165.00	\$1,320.0
		0001	0320	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$1,300.00	\$0.0
		0001	0330	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$2,250.00	\$9,000.0
		0001	0340	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$242,874.69	\$0.0
		0001	0341	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.93	\$232,283.69	\$215,559.2
		0001	0350	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT. TYPE P BEADS	114,217.00	0.00	114,217.00	LF	0.00	\$0.13	\$0.0
		0001	0360	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	84,927.00	0.00	84,927.00	LF	0.00	\$0.13	\$0.0
		0001	0370	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,857.00	0.00	1,857.00	SQYD	1,857.00	\$24.84	\$46,127.8
		0001	0380	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$3,000.00	\$0.0
		0001	0390	7339903	MISC.8 IN. PIPE GROUP B	74.00	0.00	74.00	LF	0.00	\$59.50	\$0.0
		0001	0400	8025006	MULCHING	0.40	0.00	0.40	ACRE	0.00	\$3,100.00	\$0.0
		0001	0410	8051000A	SEEDING - COOL SEASON GRASSES	0.20	0.00	0.20	ACRE	0.00	\$9,200.00	\$0.0
		0001	0420	8061006	ALTERNATE DITCH CHECK	37.00	0.00	37.00	LF	0.00	\$15.01	\$0.0
			0430	8061016	SEDIMENT REMOVAL	10.00	0.00	10.00	CUYD	0.00	\$45.51	\$0.0

Page 6 of 12 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230915-C01	J4S3349	0001	0440	8061017	TEMPORARY SEEDING	0.20	0.00	0.20	ACRE	0.00	\$4,000.00	\$0.00
		0001	0450	8061019	SILT FENCE	280.00	0.00	280.00	LF	0.00	\$10.01	\$0.00
		0001	0460	8064133	TYPE 1C EROSION CONTROL BLANKET	630.00	0.00	630.00	SQYD	0.00	\$1.95	\$0.00
		0010	0470	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	150.00	0.00	150.00	LF	0.00	\$30.00	\$0.00
		0010	0480	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	0.00	\$3,850.00	\$0.00
		0010	0490	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	0.00	\$3,300.00	\$0.00
		0040	0500	9039902	MISC.RELOCATION OF EXISTING SIGNS	3.00	0.00	3.00	EA	0.00	\$325.00	\$0.00
		0001	5001	6189901	MISC.MOBILIZATION - PAYMENT FOR CONTRACT BOND	0.00	1.00	1.00	LS	1.00	\$10,591.00	\$10,591.00
		0001	5002	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	0.00	143.00	143.00	EA	143.00	\$10.29	\$1,471.47
		0001	5003	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	0.00	77.00	77.00	EA	77.00	\$10.29	\$792.33
	Project J	4S3349 - To	tal Value	Posted to D	Date as of Report Generated Date							\$1,709,809.54
230915-C01 Ove	rall - Total	Value Post	ted to Dat	te as of Rep	ort Generated Date							\$1,709,809.54

Page 7 of 12 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J4S3349

Line lumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0130	4011231	BIT. PAVEMENT MIXTURE PG58-28H (BP-1)	4/17/24	5/1/24	372.19	TONS	Rte. 371 SB Lane					
			4/20/24	5/1/24	383.41	TONS	Rte. 371 NB Lane					Last BP-1 Posting, adjusted for rounding -0.02 from quantity posted to date. 383.43 before rounding.
0140	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	4/17/24	5/1/24	742.27	TONS	Rte. 371 NB and SB Lanes					
			4/20/24	5/1/24	1,223.96	TONS	Rte. 371 NB Lane					
			4/22/24	5/1/24	1,495.47	TONS	Rte. 371 NB Lane					
			4/23/24	5/1/24	1,512.06	TONS	Rte. 371 NB Lane					
			4/24/24	5/2/24	578.12	TONS	Rte. 371 NB Lane					
			4/25/24	5/1/24	498.94	TONS	Rte. 371 NB and SB Lane through New Market					
			4/27/24	5/1/24		TONS	Route 371 - Side roads and approaches, Route U east, Route H west, New Market Rd west, Elm St east					
			4/29/24	5/2/24	90.71	TONS	Route 371 - Side road and approaches, Market St east & west, Mill St. east & west, Route H east					90.69 on this day adjusted for rounding material total to nearest tenth (+0.02)
0150	4071005	TACK COAT	4/25/24	5/1/24	1,060.00	GAL	Rte. 371 NB and SB Lane through New Market	te. 371 NB and SB Lane through New Market			(Optional Surface treatment sprayed at Tack rate was used in place)	
0160 4139912	4139912	MISC.	4/17/24	5/1/24	3,176.00	GAL	Rte. 371 NB and SB Lanes					3422 from this day adjusted -246 so total matches the combined total to date on the project not accounting fo force account quantity
			4/20/24	5/1/24	4,965.00	GAL	Rte. 371 NB Lane					On days with Bp-1 and Surface level, optional surface treatment (Line No. 0160) is recorded under the surfac level Roadway report
			4/22/24	5/1/24	6,218.00	GAL	Rte. 371 NB Lane					
			4/23/24	5/1/24	5,591.00	GAL	Rte. 371 NB Lane					
			4/24/24	5/2/24	2,747.00	GAL	Rte. 371 NB Lane					
			4/27/24	5/1/24	241.00	GAL	Route 371 - Side roads and approaches, Route U east, Route H west, New Market Rd west, Elm St east					
			4/29/24		241.00	GAL	west, Mill St. east & west, Route H east					241 on this day
0290 616100	6161005	CONSTRUCTION SIGNS	4/22/24	5/1/24	807.50	SQFT	Mo 371 spacing as per Standard Plans 616 Signage added. Be Prepared to stop x2					
							Uneven Lanes x13 Shoulder Drop Off (Symbol) x13 Shoulder Drop Off (Pague) x13 No Center Line x9 Pilot Car Follow Me x1 Pilot Car Walt & Follow (8,75 area) x8 Pilot Car Walt & Follow (1,5 area) x8 Pilot Car Walt & Follow (1,5 area) x8 Be prepared to stop x2 Flagger (symbol) x3 End Read Work x2 Total: 807.5 SOFT					
0341	6181000	MOBILIZATION	5/1/24	5/1/24	0.23	LS	Rte.371					
0370		MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4/5/24	5/1/24		SQYD		13.039		9.447		Milling Entrances on both sides of Mo 371 from
oo o ozzak			4/6/24	5/1/24	287.00	SQYD		8.980		5.927		Milling Entrances on both sides of Mo 371 from
			4/8/24	5/2/24	697.00	SQYD	NB From North American Ave. at NB Log Mile 2.616 To end of Project Log Mile NB 0.00 SB From Bee Creek Road at SB Log Mile 21.468 To Mo 273 End of project SB Log Mile 23.549	2.616		0.00		Milling Entrances on both sides of Mo 371 from Bee or moving South and the transition area at the end of the project Paid to plan quantity
5002	6131017	DOWEL BAR (FURNISH AND INSTALL WITH BASK	4/30/24	5/2/24	143.00	EA	Rte. 371 New Market Concrete Section					
	0404040	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	4/30/24	5/2/24	77.00	EΔ	Rte.371 New Market Concrete Section					

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 8 of 12



Line Item Adjustments by Estimate

Contract ID: 230915-C01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3349	0130	BIT. PAVEMENT MIXTURE PG58-28H (BP-1)	Overrun	Overrun	7	May 2, 2024	SYSTEM	(\$18,033.85)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		F G30-2011 (BF-1)		Overrun - Total				(\$18,033.85)	
			Overrun - To	tal				(\$18,033.85)	
			Price FUEL		6	Apr 17, 2024	SYSTEM	(\$101.01)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	May 2, 2024	SYSTEM	(\$1,088.73)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$1,189.74)	
			Price FUEL -	- Total				(\$1,189.74)	
	0130 -	Total						(\$19,223.59)	
	0140	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	Material		6	Apr 17, 2024	SYSTEM	\$374,049.32	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user caihaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Apr 17, 2024	SYSTEM	(\$374,049.32)	
					7	May 2, 2024	SYSTEM	\$907,120.63	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user caihaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	May 2, 2024	SYSTEM	(\$907,120.63)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
			Price FUEL		6	Apr 17, 2024	SYSTEM	(\$6,285.98)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	May 2, 2024	SYSTEM	(\$8,958.38)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$15,244.36)	
			Price FUEL -	Total				(\$15,244.36)	
	0140 -	Total						(\$15,244.36)	
	0150	TACK COAT	Material		7	May 2, 2024	SYSTEM	\$5,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user caihaj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7	May 2, 2024	SYSTEM	(\$5,300.00)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
			Overrun	Overrun	7	May 2, 2024	SYSTEM	(\$1,580.00)	
				Overrun - T	otal			(\$1,580.00)	
			Overrun - To	tal				(\$1,580.00)	
	0150 -	Total						(\$1,580.00)	
	0160	MISC.	Material		6	Apr 17, 2024	SYSTEM	\$62,594.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user caihaj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Apr 17, 2024	SYSTEM	(\$62,594.40)	
					7	May 2, 2024	SYSTEM	\$164,582.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user caihaj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	May 2, 2024	SYSTEM	(\$164,582.00)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
			Overrun	Overrun	7	May 2, 2024	SYSTEM	(\$321.20)	
				Overrun - T	otal			(\$321.20)	
			Overrun - To	tal				(\$321.20)	
	0160 - Total							(\$321.20)	
	0240	FURN & PLACE	Material		5	Apr 2,	SYSTEM	\$245,516.98	This adjustment offsets the original system-generated Material Payment



Line Item Adjustments by Estimate

Contract ID: 230915-C01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3349	0240	CONC MATL FOR FULL DEPTH	Material			2024			Estimate Item Adjustment (0002) due to user caihaj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Apr 2, 2024	SYSTEM	(\$245,516.98)	
					6	Apr 17, 2024	SYSTEM	\$245,535.26	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user caihaj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					6	Apr 17, 2024	SYSTEM	(\$245,535.26)	
				- Total				\$0.00	
			Material - To					\$0.00	
			Overrun	Overrun	5	Apr 2, 2024	SYSTEM	(\$15,113.38)	
					6	Apr 17, 2024	SYSTEM	(\$18.29)	
					7	May 2, 2024	SYSTEM	\$15,131.67	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',457.15000 - 457.15000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
			Overrun - To	tal				\$0.00	
	0240 -	Total						\$0.00	
	0280	DOWEL BAR (DRILLING, FURNISHING AND INST			5	Apr 2, 2024	SYSTEM	\$3,097.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user caihaj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Apr 2, 2024	SYSTEM	(\$3,097.50)	
					6	Apr 17, 2024	SYSTEM	\$3,097.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					6	Apr 17, 2024	SYSTEM	(\$3,097.50)	
					7	May 2, 2024	SYSTEM	\$3,097.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user caihaj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					7	May 2, 2024	SYSTEM	(\$3,097.50)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0280 -							\$0.00	
	0290	CONSTRUCTION			5	Apr 2, 2024	SYSTEM	\$806.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user caihaj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					5	Apr 2, 2024	SYSTEM	(\$806.00)	
					6	Apr 17, 2024	SYSTEM	\$4,732.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user caihaj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					6	Apr 17, 2024	SYSTEM	(\$4,732.00)	
				- Total				\$0.00	
			Material - To	al				\$0.00	
			Overrun Overrun		7	May 2, 2024	SYSTEM	(\$614.25)	
				Overrun - Total				(\$614.25)	
			Overrun - To	tal				(\$614.25)	
	0290 -							(\$614.25)	
	0300	CHANNELIZER (TRIM LINE)			6	Apr 17, 2024	SYSTEM	\$1,440.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user caihaj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					6	Apr 17, 2024	SYSTEM	(\$1,440.00)	
				- Total				\$0.00	



Line Item Adjustments by Estimate

Contract ID: 230915-C01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3349	0300	CHANNELIZER (TRIM LINE)	Material - To	tal				\$0.00	
	0300 -	Total						\$0.00	
	0310	TYPE III MOVEABLE BARRICADE	Material		6	Apr 17, 2024	SYSTEM	\$1,320.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user caihaj1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					6	Apr 17, 2024	SYSTEM	(\$1,320.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Overrun	Overrun	6	Apr 17, 2024	SYSTEM	(\$825.00)	
					7	May 2, 2024	SYSTEM	\$825.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',165.00000 - 165.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0310 -	Total						\$0.00	
	0470	MGS GUARDRAIL, 8 FT. POSTS, 6 FT. - 3 IN	Stockpile		4	Mar 18, 2024	SYSTEM	\$2,350.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STIVII	- Total				\$2,350.00	
			Construction	Stockpile S	ГМI - Total			\$2,350.00	
	0470 -	Total						\$2,350.00	
	0480	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Stockpile		4	Mar 18, 2024	SYSTEM	\$7,712.60	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$7,712.60	
			Construction	Stockpile S	ГМI - Total			\$7,712.60	
	0480 -	Total						\$7,712.60	
	0490	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile STMI		4	Mar 18, 2024	SYSTEM	\$7,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total	- Total			\$7,500.00	
			Construction	Stockpile S	ГМI - Total			\$7,500.00	
	0490 -	Total						\$7,500.00	
	5002	DOWEL BAR (FURNISH AND INSTALL WITH BASK	Material		7	May 2, 2024	SYSTEM	\$1,471.47	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user caihaj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					7	May 2, 2024	SYSTEM	(\$1,471.47)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	5002	5002 - Total							
	5003	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material		7	May 2, 2024	SYSTEM	\$792.33	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user caihaj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					7	May 2, 2024	SYSTEM	(\$792.33)	
				- Total				\$0.00	
			Material - To	al				\$0.00	
	5003 - Total							\$0.00	
J4S3349 -	Total							(\$19,420.80)	
Overall -	Total							(\$19,420.80)	

MoDOT

Contract Adjustments for Contract - 230915-C01

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 12 of 12